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Run 4390 mpswise, accO: All
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— Enilries: 12868428

— Mean: T A040 4 00026

— Sid Dey: 29607 - 00078
| 1 1 1 | 1 1 1 | 1 1 | 1 1 1 | 11 1 | 1 1 1 | 11 1 | 1 1
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AcciNAccD

Run 4390 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==1

Eniries: 370701

Mean: 96630 +/- 0.0009

Sbd Dey: 0L6F68 -~ D.0O00E

Enitries: 370704

Mean: 906094 4 0.0009

Sid Dwery: 0.5388 4 000086
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Run 4390 mpswise, acc(: Beam OFF

Enilries: 152362

Meari: 08343 4/- 0.0005

Sid ey 01913 - 00003

10
AccliNAccD

Run 4390 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Enitries: 171320

Mean: T 3675 +- QU012

Sid Drev: DLASEE +- 0.0008




Run 4390 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF

AccO/NAccO
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Run 4390 mpswise, AccO/NAccO:mpsCoda, beam ON, laser ON
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Accl/NACeD

12

10

Run 4390 mpswise, AccO/NAccO:mpsCoda, beam OFF
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200 400 600 BOO 1000 1200
mpsCoda

Run 4390 mpswise, AccQ/NAccO:mpsCoda, beam ON, laser OFF
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